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Question 1.

Calculate:

a)

(DD

b)
7-0.125°-0.25” — 3-0.0625°
6-0.530 — 5-0.2515

100

)
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Question 2. [10m]

A group of 8 machines that work at the same constant rate can complete 14
jobs in 7 hours. How many hours would it take 17 of these machines to
complete 34 of these jobs?
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Question 3. [10m]

There are 4 blue and 3 white marbles in a bag. Jasur will randomly pick two
marbles out of the bag without replacing them. What is the probability that
at least one of these marbles is white?
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Question 4.

Evaluate:
a)
(V15 —v29) (V15 + v29)

Vv2.25 ++/30.25

b)

1

1 2
<J7+5\/§+\/5\/§—7)
5v2+1
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Question 5.

Solve the equation completely:

2x +1
X+———=5

2x
2+x+1

[10m]
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Question 6.
a) [Sm]

The measures of two supplementary angles are in the ratio of 4:5. Find the
measure of both angles.

b) [5m]

The perimeter of the rectangle is equal to 34cm and the area is equal to
60cm?. Find the sides of the rectangle.
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Question 7.

Solve the equation. [10m]
2x—-3  5x—-9

3x -5  3x—7
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Question 8.
a) [Sm]

If 16 times of a number is decreased by 41, the result will be the same as
when 15 times the number is increased by 28. What is the number?

b) [5m]

The total price of 10 liter of regular gasoline and 15 liter of premium gasoline
is $32.75. Premium costs $0.20 more per liter than regular. What is the cost
of liter of each type of gasoline?
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Question 9.

Simplify the expression.

a) [Sm]
<a4+a3+a2+1_a_ ) a—1 1

: +
ad+1 at—a+1 a+1

b) [5Sm]

(x/}—l 1 ) Vx N X
xWx+1 x—1) x—y/x+1 x-1
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Question 10. [10m]
£BAC = 160°,4CDE = 50°.AC || EF,CD || AB.Find £DEF.
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